

Monday 7:00 pm

Salon de Quilles Laval

Lanes 1 - 14

Team Standings In Each Division

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
EST									
1	13	MAPLE LEAFS	Leo Leblanc	165½	33	849	17885	1281	3689
2	9	SHARKS	Dave Coleman	142	32	953	17372	1304	3654
3	12	AVALANCHES	Real Roy	120	33	945	17009	1263	3553
4	2	PINGOUINS	Chantal Fortier	120	25	942	17007	1304	3580
5	5	PANTHERS	Jeannine Bonin	113	40	1028	16881	1296	3738
6	6	PREDATEURS	Alain Renaud	88	12	1002	16335	1185	3473
7	4	CANADIENS	Patrick Langelier	73½	17	995	16284	1174	3356
QUEST									
1	7	BRUINS	Guy Fournier	152	38	1021	17411	1297	3650
2	14	FLAMES	Gilles Martin	125	21	950	17050	1274	3493
3	10	RED WINGS	Jacques Veilleux	109½	10	1052	16757	1268	3556
4	8	BLACKHAWKS	Rene Cloutier	108½	19	987	16892	1219	3615
5	1	GOLDEN KNIGHT	France Caron	100	22	1030	16638	1188	3435
6	3	DEVILS	Conrad Laganieri	86½	6	986	16379	1242	3631
7	11	BLUE JACKETS	Alain Cauvier	71½	7	1027	16096	1185	3482

*** Although not shown, standings are determined by points only for the current part
Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14
Today	1-8	5-4	7-11	9-13	10-14	3-2	6-12
Next Week	11-12	7-8	13-14	1-2	3-4	5-6	9-10

Average List of Regular Team Members

Men

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
10	Serge Gauthier	198	75	14913	279	708	13	Guillaume Ste-Marie	174	75	13095	249	660
14	Francois Giroux	197	69	13610	257	734	9	Clement Caron	174	75	13056	247	639
5	Michel Diotte	195	72	14107	276	695	5	Jacques Labelle	173	66	11476	266	615
3	Conrad Laganieri	194	75	14596	258	652	1	Michel Boismenu	173	69	11995	279	668
6	Robert Lebeau	193	72	13960	300	758	2	Florian Rossi	173	75	12993	255	608
4	Patrick Langelier	192	75	14465	289	762	3	Luc Mongeau	173	75	12990	237	664
10	Guy Ballazo	192	66	12694	279	738	6	Alain Renaud	173	75	12978	279	616
7	Guy Fournier	187	69	12961	239	649	4	Daniel Rolland	171	72	12363	241	597
10	Jacques Veilleux	187	75	14065	255	669	13	Denis Bernaquez	170	75	12778	247	639
6	Serge Lemieux	187	72	13471	279	712	12	Mario Carrier	168	75	12607	256	602
9	Eric Fillion	183	72	13237	279	713	3	Hubert Chartier	165	75	12409	257	622
11	Claude Henuset	183	60	11024	259	692	7	Philippe Caron	165	72	11889	245	620
11	Jocelyn Ross	183	72	13210	279	699	4	Andre Ferland	163	57	9302	234	645
8	Rene Cloutier	182	72	13138	267	719	4	Luis Hernandez	162	63	10246	216	589
12	Real Roy	181	75	13649	266	677	8	Luc Brochu	161	45	7289	276	676
7	Fernand Lefebvre	181	54	9787	254	665	1	Claude Desroches	156	75	11713	218	567
14	Marc-Andre Lacroix	180	60	10859	240	627	3	Guillermo Sepulveda	155	75	11664	258	682
1	Robert Berlinguette	180	75	13565	279	743	14	Gilles Martin	153	75	11547	234	582
9	Dave Coleman	180	72	12994	258	632	7	Yohan Ladry	153	57	8727	265	630
7	Paul Fournier	179	69	12417	279	689	13	Philippe Leblanc	151	66	10021	223	579
11	Alain Thibodeau	179	74	13311	258	706	5	Marco Giannitti	150	75	11296	214	539
11	Luc Cauvier	179	69	12403	266	662	10	Andre Lavalle	149	54	8091	211	530
14	Simon Duperer	177	72	12751	299	728	3	Patrice Cote	144	63	9118	247	568
11	Alain Cauvier	176	66	11655	263	663	6	Richard Carriere	139	48	6696	211	534
8	Gaetan Houde	176	69	12162	254	618	13	Leo Leblanc	127	72	9215	190	480

Women

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
1	Lyane St-Onge	189	51	9686	269	675	12	Reine-Marie Dube	153	57	8736	232	600
12	Carmen Dube	182	71	12955	256	662	6	Monique Pratte	153	45	6886	199	530
1	France Caron	182	69	12563	258	660	2	Nicole Bissonnette	151	63	9513	224	571
10	Joanne Larocque	181	60	10860	248	643	4	Brigitte Chartrand	150	72	10829	255	608
5	Jeannine Bonin	173	42	7271	252	654	1	Michline Legault	150	69	10358	279	691
5	Lucie Huneault	172	72	12397	268	690	12	Sylvie Dube	145	75	10904	207	546
8	Claire Poliquin	172	69	11878	253	658	10	Elaine Larocque	145	60	8707	200	545
2	Marie-Paule Fournier	168	57	9586	265	638	9	Josee Bonnier	142	72	10295	243	534
5	Isabelle Jalbert	165	57	9438	240	629	8	Diane Bolland	141	66	9349	222	534
2	Chantal Fortier	158	57	9026	248	612	2	Christine Pontbriand	139	66	9189	229	500
4	Huguette Boucher	157	75	11846	226	575	14	Marie-Claire Desroches	138	63	8715	205	570
6	Carole Rondeau	157	66	10379	221	597	11	Belkys Ramos Alayo	127	71	9034	229	495
7	Louise Caron	156	72	11293	233	605	9	Lise Montpetit	119	66	7915	183	420
8	Diane Martin	155	72	11200	234	576	12	Line Tanguay	116	75	8750	163	437
9	Laura Ladry	155	57	8854	202	556	13	Francine Tardif	114	72	8257	184	464
3	Suzanne Gagnon	155	75	11647	245	583	13	Elham Alizadeh	113	63	7153	220	462
2	Lyne Quintal	153	66	10148	242	659	14	Ghislaine Leroux	105	24	2521	150	416

Last Week's Top Scores

Team Division #1 - EST

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
1121	PANTHERS	3213	PANTHERS	1296	PANTHERS	3738	PANTHERS
1003	SHARKS	2843	SHARKS	1250	SHARKS	3585	MAPLE LEAFS
950	AVALANCHES	2791	AVALANCHES	1225	MAPLE LEAFS	3584	SHARKS
938	CANADIENS	2725	CANADIENS	1204	AVALANCHES	3553	AVALANCHES
928	PINGOUINS	2647	PINGOUINS	1184	PINGOUINS	3415	PINGOUINS

Team Division #2 - OUEST

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
1060	BRUINS	3109	BRUINS	1240	BRUINS	3649	BRUINS
984	RED WINGS	2923	GOLDEN KNIGHT	1173	FLAMES	3424	GOLDEN KNIGHT
980	GOLDEN KNIGHT	2766	BLACKHAWKS	1147	GOLDEN KNIGHT	3416	FLAMES
937	BLACKHAWKS	2692	RED WINGS	1147	BLACKHAWKS	3396	BLACKHAWKS
926	FLAMES	2675	FLAMES	1124	RED WINGS	3112	RED WINGS

Enter Div Label

	Scratch Game		Scratch Series		Handicap Game		Handicap Series	
Men	244	Real Roy	631	Michel Diotte	244	Real Roy	631	Michel Diotte
	224	Francois Giroux	600	Francois Giroux	224	Francois Giroux	600	Francois Giroux
	223	Denis Bernaquez	590	Real Roy	223	Denis Bernaquez	590	Real Roy
	222	Michel Diotte	580	Jacques Labelle	222	Michel Diotte	580	Jacques Labelle
	215	Marc-Andre Lacroix	574	Fernand Lefebvre	215	Marc-Andre Lacroix	574	Fernand Lefebvre
	215	Jacques Labelle			215	Jacques Labelle		
Women	251	France Caron	660	France Caron	251	France Caron	660	France Caron
	217	Jeannine Bonin	573	Jeannine Bonin	217	Jeannine Bonin	573	Jeannine Bonin
	212	Reine-Marie Dube	538	Joanne Larocque	212	Reine-Marie Dube	538	Joanne Larocque
	206	Josee Bonnier	529	Isabelle Jalbert	206	Josee Bonnier	529	Isabelle Jalbert
	201	Joanne Larocque	525	Chantal Fortier	201	Joanne Larocque	525	Chantal Fortier

Enter Div Label

	Weekly Game Over Average Game - Ave=Difference		Weekly Series over Average Series - Ave=Difference	
Men	244 - 181=63	Real Roy	527 - 459=68	Gilles Martin
	223 - 170=53	Denis Bernaquez	580 - 516=64	Jacques Labelle
	201 - 153=48	Gilles Martin	590 - 543=47	Real Roy
Women	251 - 180=71	France Caron	660 - 540=120	France Caron
	206 - 142=64	Josee Bonnier	521 - 456=65	Reine-Marie Dube
	212 - 152=60	Reine-Marie Dube	487 - 426=61	Josee Bonnier

Enter Div Label

Season High Scores

Team Division #1 - EST

Team Scratch Game		Team Scratch Series		Team Handicap Game		Team Handicap Series	
1121	PANTHERS	3213	PANTHERS	1304	PINGOUINS	3738	PANTHERS
1067	SHARKS	2943	SHARKS	1304	SHARKS	3689	MAPLE LEAFS
1047	PINGOUINS	2900	PREDATEURS	1296	PANTHERS	3654	SHARKS

<u>Team Scratch Game</u>
1025 AVALANCHES
1007 PREDATEURS

Team Division #2 - OUEST

<u>Team Scratch Game</u>
1128 RED WINGS
1118 BRUINS
1044 BLUE JACKETS
1041 FLAMES
1036 DEVILS

Enter Div Label

<u>Team Scratch Series</u>
2822 CANADIENS
2809 PINGOUINS

<u>Team Scratch Series</u>
3148 RED WINGS
3127 BRUINS
3059 BLUE JACKETS
3013 DEVILS
3009 BLACKHAWKS

<u>Team Handicap Game</u>
1281 MAPLE LEAFS
1263 AVALANCHES

<u>Team Handicap Game</u>
1297 BRUINS
1274 FLAMES
1268 RED WINGS
1242 DEVILS
1219 BLACKHAWKS

<u>Team Handicap Series</u>
3580 PINGOUINS
3553 AVALANCHES

<u>Team Handicap Series</u>
3650 BRUINS
3631 DEVILS
3615 BLACKHAWKS
3556 RED WINGS
3493 FLAMES

Men	<u>Scratch Game</u>
	300 Robert Lebeau
	299 Simon Duperer
	289 Patrick Langelier
	279 Serge Gauthier
	279 Paul Fournier
	279 Alain Renaud
	279 Michel Boismenu
	279 Robert Berlinguette
	279 Guy Ballazo
	279 Jocelyn Ross
	279 Serge Lemieux
	279 Eric Filion

<u>Scratch Series</u>
762 Patrick Langelier
758 Robert Lebeau
743 Robert Berlinguette
738 Guy Ballazo
734 Francois Giroux

<u>Handicap Game</u>
299 Simon Duperer
279 Serge Gauthier
279 Paul Fournier
279 Alain Renaud
279 Michel Boismenu
279 Serge Lemieux
279 Eric Filion

<u>Handicap Series</u>
734 Francois Giroux
728 Simon Duperer
727 Patrick Langelier
713 Eric Filion
712 Serge Lemieux

Women	<u>Scratch Game</u>
	279 Michline Legault
	269 Lyane St-Onge
	268 Lucie Huneault
	265 Marie-Paule Fournier
	258 France Caron

691 Michline Legault
690 Lucie Huneault
675 Lyane St-Onge
662 Carmen Dube
660 France Caron

268 Lucie Huneault
265 Marie-Paule Fournier
258 Lyane St-Onge
256 Carmen Dube
255 Brigitte Chartrand

690 Lucie Huneault
675 Lyane St-Onge
660 France Caron
659 Lyne Quintal
658 Claire Poliquin

Enter Div Label

	<u>Season Game Over Average</u>	<u>Game - Ave=Difference</u>
Men	276 - 167=109	Luc Brochu
	265 - 160=105	Yohan Ladry
	289 - 190=99	Patrick Langelier
Women	229 - 118=111	Belkys Ramos Alayo
	268 - 175=93	Lucie Huneault
	229 - 137=92	Christine Pontbriand

Enter Div Label

	<u>Season Series over Average</u>	<u>Series - Ave=Difference</u>
	762 - 570=192	Patrick Langelier
	676 - 501=175	Luc Brochu
	665 - 501=164	Fernand Lefebvre
	600 - 423=177	Reine-Marie Dube
	490 - 321=169	Belkys Ramos Alayo
	690 - 525=165	Lucie Huneault

Team Rosters

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
1 - GOLDEN KNIGHT									
Robert Berlinguette	13565	75	180	148	144	153	445	153 - 182=-29	445 - 546=-101
Michline Legault	10358	69	150	98	159	129	386	159 - 151=8	386 - 453=-67
Michel Boismenu	11995	69	173	123	142	148	413	148 - 175=-27	413 - 525=-112
Claude Desroches	11713	75	156	161	164	127	452	164 - 156=8	452 - 468=-16
Lyane St-Onge	9686	51	189	a189	a189	a189	567		
France Caron	12563	69	182	251	175	234	660	251 - 180=71	660 - 540=120
2 - PINGOUINS									
Lyne Quintal	10148	66	153	133	104	135	372	135 - 155=-20	372 - 465=-93
Nicole Bissonnette	9513	63	151	182	82	151	415	182 - 151=31	415 - 453=-38
Christine Pontbriand	9189	66	139	a139	a139	a139	417		
Marie-Paule Fournier	9586	57	168	160	161	160	481	161 - 168=-7	481 - 504=-23
Florian Rossi	12993	75	173	114	148	175	437	175 - 174=1	437 - 522=-85
Chantal Fortier	9026	57	158	200	169	156	525	200 - 157=43	525 - 471=54
3 - DEVILS									
Hubert Chartier	12409	75	165	117	101	110	328	117 - 167=-50	328 - 501=-173
Guillermo Sepulveda	11664	75	155	168	136	120	424	168 - 156=12	424 - 468=-44
Suzanne Gagnon	11647	75	155	148	119	110	377	148 - 156=-8	377 - 468=-91
Patrice Cote	9118	63	144	96	118	96	310	118 - 146=-28	310 - 438=-128
Luc Mongeau	12990	75	173	142	141	188	471	188 - 173=15	471 - 519=-48
Conrad Laganiere	14596	75	194	211	152	162	525	211 - 195=16	525 - 585=-60
4 - CANADIENS									
Huguette Boucher	11846	75	157	149	143	147	439	149 - 158=-9	439 - 474=-35
Luis Hernandez	10246	63	162	154	138	135	427	154 - 163=-9	427 - 489=-62
Andre Ferland	9302	57	163	a163	a163	a163	489		
Brigitte Chartrand	10829	72	150	139	121	112	372	139 - 151=-12	372 - 453=-81
Daniel Rolland	12363	72	171	183	158	148	489	183 - 172=11	489 - 516=-27
Patrick Langelier	14465	75	192	150	172	187	509	187 - 193=-6	509 - 579=-70
5 - PANTHERS									
Marco Giannitti	11296	75	150	148	140	131	419	148 - 151=-3	419 - 453=-34
Jacques Labelle	11476	66	173	158	215	207	580	215 - 172=43	580 - 516=64
Isabelle Jalbert	9438	57	165	199	143	187	529	199 - 164=35	529 - 492=37
Lucie Huneault	12397	72	172	162	184	135	481	184 - 172=12	481 - 516=-35
Michel Diotte	14107	72	195	216	222	193	631	222 - 195=27	631 - 585=46
Jeannine Bonin	7271	42	173	149	217	207	573	217 - 171=46	573 - 513=60
6 - PREDATEURS									
Carole Rondeau	10379	66	157	157	114	165	436	165 - 157=8	436 - 471=-35
Monique Pratte	6886	45	153	136	169	147	452	169 - 153=16	452 - 459=-7
Serge Lemieux	13471	72	187	166	143	169	478	169 - 188=-19	478 - 564=-86
Richard Carriere	6696	48	139	a139	a139	a139	417		
Robert Lebeau	13960	72	193	117	210	169	496	210 - 195=15	496 - 585=-89
Alain Renaud	12978	75	173	129	120	117	366	129 - 175=-46	366 - 525=-159
7 - BRUINS									
Philippe Caron	11889	72	165	188	151	162	501	188 - 165=23	501 - 495=6
Yohan Ladry	8727	57	153	a153	a153	a153	459		
Louise Caron	11293	72	156	183	158	136	477	183 - 156=27	477 - 468=9
Fernand Lefebvre	9787	54	181	170	203	201	574	203 - 180=23	574 - 540=34
Paul Fournier	12417	69	179	a179	a179	a179	537		
Guy Fournier	12961	69	187	a187	a187	a187	561		

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
8 - BLACKHAWKS									
Diane Martin	11200	72	155	133	160	106	399	160 - 156=4	399 - 468=-69
Luc Brochu	7289	45	161	a161	a161	a161	483		
Gaetan Houde	12162	69	176	a176	a176	a176	528		
Claire Poliquin	11878	69	172	161	163	161	485	163 - 172=-9	485 - 516=-31
Diane Boland	9349	66	141	101	92	146	339	146 - 143=3	339 - 429=-90
Rene Cloutier	13138	72	182	184	185	163	532	185 - 182=3	532 - 546=-14
9 - SHARKS									
Josee Bonnier	10295	72	142	206	151	130	487	206 - 142=64	487 - 426=61
Lise Montpetit	7915	66	119	123	102	135	360	135 - 119=16	360 - 357=3
Eric Filion	13237	72	183	159	187	180	526	187 - 184=3	526 - 552=-26
Laura Ladry	8854	57	155	172	161	155	488	172 - 154=18	488 - 462=26
Clement Caron	13056	75	174	124	194	150	468	194 - 174=20	468 - 522=-54
Dave Coleman	12994	72	180	144	208	162	514	208 - 180=28	514 - 540=-26
10 - RED WINGS									
Elaine Larocque	8707	60	145	126	121	181	428	181 - 145=36	428 - 435=-7
Andre Lavalle	8091	54	149	94	94	137	325	137 - 152=-15	325 - 456=-131
Guy Ballazo	12694	66	192	107	133	148	388	148 - 195=-47	388 - 585=-197
Serge Gauthier	14913	75	198	173	166	191	530	191 - 199=-8	530 - 597=-67
Joanne Larocque	10860	60	181	201	170	167	538	201 - 181=20	538 - 543=-5
Jacques Veilleux	14065	75	187	158	165	160	483	165 - 188=-23	483 - 564=-81
11 - BLUE JACKETS									
Belkys Ramos Alayo	9034	71	127	127	133	109	369	133 - 127=6	369 - 381=-12
Jocelyn Ross	13210	72	183	119	132	142	393	142 - 185=-43	393 - 555=-162
Luc Cauvier	12403	69	179	152	155	136	443	155 - 181=-26	443 - 543=-100
Claude Henuset	11024	60	183	141	165	184	490	184 - 184=0	490 - 552=-62
Alain Thibodeau	13311	74	179	166	137	146	449	166 - 181=-15	449 - 543=-94
Alain Cauvier	11655	66	176	162	134	147	443	162 - 177=-15	443 - 531=-88
12 - AVALANCHES									
Carmen Dube	12955	71	182	a182	a182	a182	546		
Line Tanguay	8750	75	116	104	130	87	321	130 - 117=13	321 - 351=-30
Reine-Marie Dube	8736	57	153	128	212	181	521	212 - 152=60	521 - 456=65
Sylvie Dube	10904	75	145	110	127	122	359	127 - 146=-19	359 - 438=-79
Mario Carrier	12607	75	168	185	135	134	454	185 - 168=17	454 - 504=-50
Real Roy	13649	75	181	189	157	244	590	244 - 181=63	590 - 543=47
13 - MAPLE LEAFS									
Francine Tardif	8257	72	114	106	110	108	324	110 - 114=-4	324 - 342=-18
Elham Alizadeh	7153	63	113	102	100	122	324	122 - 113=9	324 - 339=-15
Philippe Leblanc	10021	66	151	181	115	149	445	181 - 152=29	445 - 456=-11
Denis Bernaquez	12778	75	170	141	168	223	532	223 - 170=53	532 - 510=22
Guillaume Ste-Marie	13095	75	174	174	179	138	491	179 - 175=4	491 - 525=-34
Leo Leblanc	9215	72	127	172	148	102	422	172 - 127=45	422 - 381=41
14 - FLAMES									
Simon Duperer	12751	72	177	122	110	124	356	124 - 179=-55	356 - 537=-181
Ghislaine Leroux	2521	24	105	a105	a105	a105	315		
Marie-Claire Desroches	8715	63	138	96	135	99	330	135 - 139=-4	330 - 417=-87
Marc-Andre Lacroix	10859	60	180	172	215	160	547	215 - 180=35	547 - 540=7
Francois Giroux	13610	69	197	216	160	224	600	224 - 197=27	600 - 591=9
Gilles Martin	11547	75	153	177	201	149	527	201 - 153=48	527 - 459=68